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H/w Q. Force of attraction between molecules of the same substance 1s called
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ﬂa) Adhesive force /3T8STeh I
(b) Surface tension / 98 d-Td

/(é)( Cohesive force ESTeh s

/(d') Viscosity / I




Q.1 The Musi and Bhima are tributaries of the river

T T i Tt <hl 98T Al 8 | MME\—-
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4 (a) Kaveri / M»}guﬁm
__A(b) Krlshna/w Ry
(c) Mahanadi /

__—(d) Brahmaputra / SI&Tq
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® Musi and Bhima are tributaries of Krishna
river. Other tributaries of Krishna River
are Tungabhadra, Koyna, Malaprabha,
Panchganga, Dudhganga and Ghatprabha.
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Q. 2 Which of the following rivers has Kishanganga river as one of its major
/ tributaries?
fererr =<, fFefafaa 9 8 forg 9 Y yqg e Afci T g weR 2 2

O

/ (a) Ravi/TEl
é (b)Ghelu_m TSR

B

—~¢) Sutlej / TqTS
/ﬁ) Chenab / =-Ta0
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* The Kishanganga River 1s one of the major
tributaries of the Jhelum River. A
hydroelectric project has been constructed

on this river in the Bandipora district of the

Union Territory of Jammu and Kashmir.
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Q.3 In which of the following States / Union territories are you more likely to
nd the natural habitat of the one-horned rhinoceros (Indian Rhino ) ?

f=feriaa o & forg Tea/shseniad TeuT I 3TT9eh! ek HiT aTet Tie (AT TEAT)
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mu & Kashm1r/3|11f T HIHIT

A€) Ladakh / STE
_Ad) Sikkim/ Taioern
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®* The Kaziranga National Park in Assam is

famous for the rhinoceros. About two-
thirds of the world's one-horned rhinoceros
are found here. It 1s the natural habitat of
rhinos. It 1s also a World Heritage Site. It

has also been declared a Tiger Reserve in
the year 2006.
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Q.4 What 1s the name of the device used to convert alternating current into direct

urrent?
/ JeATad! €T (AC) T &8 €RT (DC) § STar 3 o forer Jfeh T SR foham e 22

(a) ;‘ié/rneter / UHTeT

©)) Galvanometer / e mIHTeT

—¢) (Rectlﬁer / W’( >
(d) Transformer




* WABRR (Rectifier) T 2 ik (Electric
Device)g ST IeITadl 9RT IT 3T T hic
(AC) &I fd8 9w a1 S i (DC) |
yftafda st 2|

® A rectifier 1s an electrical device that

converts alternating current or alternating

current (AC) 1nto direct current or direct
current (DC).




Q.5 Which of the following Indian state does not share border with

/ﬁmﬁ%ﬁﬁﬁwwﬁ?—mwwﬁmﬁ%muﬁmwﬁWO

| SHARE BOUNDARIES WITH PAKISTAN? (XU (T 1) 113 lE‘l 2017 (III “5“
4 / MTS (T-I) 21 f&ds), 2017 (I-9TeiT)

\?/’MMU &

\/ .
(a) Punjab/ 9SiTel
o~

(b) Rajasthan/USTEATT

GUJARAT | N D | A
Honael —(C) (Maharashtr ¢

(d) Gujarat/TTSHId

RAJASTHAN
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® TSR hl THHT ol TIT i ATl WA TS
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® Indian states and union territories touching
the border of Pakistan are Punjab, Rajasthan,
Gujarat, Jammu and Kashmir and Ladakh.

Obviously, Maharashtra does not touch the
border of Pakistan.




Q.6 Which longitude has been selected as the Standard Meridian of India?
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— _tc) 82°30'E
MT _(d) 82°32'E
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* YA hl JHTIUIR HedTg @1 AUl YR
T R 82°30" galT SRTiaT & form St 2
I8 MR W1 TARERE (T JITRIS),
FERTTOE 3ATfe T | B oIl 2

®* The standard meridian of India or the
Indian Standard Time 1s taken from 82°30'
cast longitude. This longitude line passes
through places like Allahabad (present
Prayagraj), Mirzapur etc.




Q.7 On which date is India likely to experience the shortest day?
/I § Te Bret & e 2 22

(a) (December 22/22 T<@sT )

(b) March 21 /21 Tt

4
(c) June 22/22 5[4

o :
(d) September 23/23 fageR




e YT H oy BT faq 22 fedew 1 2idr 21 9y A
et gesll o 3T Mells # 81 I8 MeTrs W
I AT 21/22 HaX &l 99 kT Gy Dier foq

2T § TAT Fa F1ST & 20/21 57 1 Sl 2

® The shortest day in India 1s on 22 December. The
position of India is in the northern hemisphere of
the earth. The winter solstice in the Northern
Hemisphere 1s the shortest day of the year on 21/22
December and the longest day 1s on 20/21 June.
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/(a) Ricg/@

(b) Tea /=X

Ac ZCotton / FHTH

_A(d) Corn / Hehl




* IUSTS STelie g} =raet i 3careT i
foTC wo¥ 3UYTh B I8 A hl HeoTdl IS
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®* The fertile alluvial soil is best suited to
produce rice. It is the most fertile soil of
India. It has low nitrogen content. Alluvial

soil 1s basically made of Himalayan
deposits.




Q.9 On which river 1s the Tehr1 dam built?
o~ Teati(aa)frd Tt e g © 2

— _Aa) Alakananda/3TTehc]

/ (b) B_hagirath’i/‘m“ﬂ'(?ﬁ )

AC) Ganga / T
_(d) Hooghly/gTel




o fogd Iy <1 FHHior wrfieeft 7 q{édd{l@sﬁs
SRR RS Y e T B EH T Sl

FAISHT ST 1 / fiepicd a9 1972 H & 16
g1 g off, fohg Fwior vl o 1978 & &1 i
& EH |

® Tehr1 Dam 1s constructed on Bhagirathi
River in Tehr1 district of Uttarakhand. The
approval of the Planning Commission was
received for this project in the year 1972
itself, but the construction work could start

only from the year 1978.
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Q.10 What 1s deposited on 1ron in the process of galvanisation? —
/%l?vl?ﬁﬁalg TGMT (TreaehToT) Shl Tishal § I8 U T ST STTdT 27

__~(a) Copper/ GIEL
__Ab) Tin/fe

/(c)(Zinc / @

_Ad) Aluminium/@)ﬁﬁ'ﬂﬁ




* T8 Uel ST ol ST § FLfaTd W@ o foTg 3
T SE (Zine) T W TQTE It 8, dl T8
GfshaT frea-entuT shadTd! 2l

®* To keep 1ron and steel safe from rust, a
layer of zinc is applied on them, then this

process 1s called galvanization.
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Q.11 Which method will be employed to test the hardness of wate.

T ShT Sha AT shl ST i o ToTw forer farfey st = feram sirar 2 2

/ (a) Boiling / ¥
.~ (b) Distillation / 3ATHT

/(c) Formation of lather with soa/p/;l@
GEIKECICH

\

N ¢ 0

(d) None of these / sﬂﬁ £} (g Hal

e
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* 3 ST | o G FHAT § AT &l ol

2| ST T TS FSRAT 1A H Hol hicwd
AT HHIRREY & FAEs 3R Gothe Advl
FIOT BT & d9T 39 o199 |eT (Washing
Soda) (Na, CO,) §T & fehaT ST HehalT 2

water does not lather easily with
soap. Permanent hardness of water i1s due
to chloride and sulphate salts of calcium
and magnesium dissolved in water and can

be removed by washing soda (Na, CO,).




Q.12 Helium 1s added to the oxygen supply of deep sea divers becau 1t 1s

/T g 35 ARG i St ST i dfer fred St 2,

Lilu /S
(a) Less poisonous than nitrogen / I3

< ATEESH U T Sl R
_(b) Lighter than nitrogen / 72 g 9

goeh! BIdT 2

(¢) Readily miscible with oxygen/ J@
TSI o |TeT STed THir =1 STt 2

d) Less soluble in blood than nitrogen at
high pressure / I8 3= 16 YT AT82ISH

T STUEIT G | HH A Sl 2l

—




© TEL ST T ST AT oh HRT A T8
SEIE? -1|s¢|w|«| fordeft ar =1 Biet, Afer 31 /e W I8
ATSEISI AThITEE ATHe SR Icd~ il gl 3Td: Bifctad
(He) ! TIIAT@RT shl SRS SATqf o @1 Tl faam
STTdT ©, FiTeh gliferad ST TETOTRIeT SR 3 0T FaR

% FHH ST JTA] 297 U 919 o4 § 9e=¥dT Shidl 2

® Due to high pressure in deep water, oxygen becomes
toxic, while nitrogen is not toxic, but at high pressure,
it produces a disease called nitrogen narcosis. Helium
(He) 1s therefore mixed with the oxygen supply of
divers, as helium being more diffusible allows

breathing in air at the same pressure as the surface.




Q.13 Which enzyme digests proteins in the stomach?
S |1 USTTSH STTHIR H NS ohT UTeH ShidT 872

-
(a) Trypsin/ fefeem

e
in / Uftes
) e )

(¢) Salivagr; amylase / AR T
(d) Pancreatic canal / 3SR I




o YT TR USTEH T GTS0T 32T AT STTHTLE
(Stomach) H BT &, I8 A & dr= |

e BIdT 21 SHehl Terdr @ M Bie-
BIC ULTESH H ¢ ST 8 Uite Teh Sifor
I B

®* An enzyme called pepsin is secreted in the

stomach, which helps 1n the digestion of
proteins. With 1its help, proteins break
down into smaller peptides. Pepsin i1s a

biological catalyst.




Q.14 Which of the following enzymes 1s found 1n saliva?

/ﬁmﬁlﬁ@ﬁﬁﬁﬁ?-w GSITeH TR H qrT ST @ 2

_~ (a) Lactose/ oiaeIST
) Diastage/STTES]
.~ (c) Sucrose /gshIST

__Ad) <Fylin ERISEY

C




o I (Tyalin) THe USITEH R H 91T STTAT
3 @w Pt ¥ el (A9 fofiadt, Td-
Aol T WIRIS) g Fliad A’ |IsH |
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®* An enzyme called Tyalin is found in saliva.
Saliva secreted by three pairs of salivary
glands (sub-lingual, sub-maxillary and
paratoid) mixes with food and helps 1n

digestion.
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Q.I/S,Which curve shows the inverse relationship between unemployment and
inflation rate?

HIH-HT 5k SRISTTRT 3R AT 3T o Hefel I Tl SR1idT @ 2

/(a) Supply curve/clﬁ EED
/(’6) Indifference curve/ ST s

/6) IS curve/3ATETH d5h

) Q)hiuips curv 5
—




* T Tog, fhfoed % qER whifq fr @ qor
SUSTTY <hY 2T o ofi Ueh foreliy Eeier 9T ST 2|
ORIl T 39 GaiY ohl JERTd i o fold, ST a5
1 yfqurfed foram mar, 39 feferea ok ed 2
oot I3r sRuTIeer @1 sl &4 § 2Tu = fiedt
g8 il ol

* According to A. W. Phillips, there 1s an inverse

relationship between the rate of inflation and the
rate of unemployment. The curve drawn by
Phillips to show this relationship 1s called
Phillips curve. A Phillips curve has a negative

slope descending from left to right.




Q.16 When 1s the National Voters Day observed by the Election Commission of

India?

TR fatem 2 1mm g1 T aaeTar fead el e Sirar g 2

(ar)/6 May/6 Ilé

(b’)/26 June /26 I
(¥ 15 August/15 TEq

(Y Gs Janu@ZS SECE|
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AT A= AT 10 25 SHad ol TS Aaarar
feaq o= STar 81 25 SHad, 2022 &1 1247 T
Aderar fead (THEE) AT TR 39 9N 39 fday &
foS (Theme) " AT SioRi® gfelied, TGSl
Ug UrifEuida" (Making elections inclusive,
Accessible and Participative) Tl

* 'National Voters' Day' 1s celebrated by the Election
Commission of India on 25 January. The 12th
National Voters' Day (NVD) was observed on
January 25, 2022. This year the theme of the day
was “(Making elections inclusive, accessible and

participatory)".




Q.17 Fhe second most senior office in the country 1s of
ST 2T THU HeH TNE Hr (T EIR

% (a) Office of the President of India/
YR o TSI hl e

\/Qa) Office of the Prime Minister of India/
Y o TITTHAT T I
i eplHled

\/Qb) Office of the Vice President of India/
YR o STSUTT T FHRITA

/

Ap) Office of the Chief Justice of

India/sTRd o T&T =TT AT HA T




o SR T ST, T % TTq TRA 1 (5 Sodad T
UETIereh Rl BT 2 T TR, T & JULSCUTT T HIATAT <7 T
THU T TG HRAIeTd BT €| SN TST T shT T AT
BT 2 I8 TSN Sl STITEAN, T8 T, HIGEHT 72T Jg
1 feafa o Tseuld o Fmt 1 fHagd i 7, fSoes fog 3w ITGZ;I{ﬁ

o a9 3 v Y2 forT SITd 2

®* The Vice President of India 1s the second highest ranking
official in India after the President. Thus, the office of the Vice
President of India 1s the second most senior office in the

country. The Vice-President i1s the ex-officio Chairman of the
Rajya Sabha. He discharges the functions of the President in the
event of his absence, resignation, removal or death, for which

he 1s provided with the salary and allowances of the President.




Q.18 The period between the prorogation of a House and its reassem In a new
Aession 1s called :
TRl Ta o EETeE 3R Ueh T 65 H 3Heh TH: GHoId BI o (i<l ohl ST ol

T STl 2-

\41) Question hour / TFhTcd

\AD) Zero hour / [T
_c¢) (Recess A ATRRT

_ (d) Quorum/ FT




* foRET Ha o GATE ST U AT &3 H 36eh TH: GHA B o

S I STl T JATHRIT (Recess) HET AT B HHSH
FTISTET ST T&T Ueh Sl TehTel o foru i giar 8| g9
% ST TS H TIHRTA o &1 12 991 U 1 S o S hl G0
STISRTE el SITAT & |G ohl SI3shi | UM (HRH) IATRIH

Bl Bl

®* The period between the prorogation of a House and its

reassembly 1n a new session 1s called Recess. The first one
hour of parliamentary proceedings 1s earmarked for
Question Hour. The time between 12 o'clock and 1 o'clock
after the Question Hour in both the Houses of the
Parliament 1s called Zero Hour. Quorum 1s necessary in the

meetings of the House.




Q.19 According to which of the following Articles of the Constitutif India
S shall a Money Bill NOT be introduced 1n the Council of States?
TR Giorem o [0 | fora a1q=ee o 1R, UsT a1 | o farere o 91

~ O O
[T ST HehT? Zﬁp ,)o?

(a) Article 354/ 34-3;@3 354
v

©)) Article 193 /3:|:|1;®a 193

(¢) Artlcle 298 / A <G 298

_Ad) Artlcle 109/343—33 109




* WA HiTeT o 3o 109 % FTER, 9 fareish (Money bill)
ST @1 H QUEATIOA a1 ohaT ST Eehdll G fol€raeh <ish |1
QUEATIYA foRaT STTAT 81 3N ATk 9T € UTRA B4 o S8 TST |1
ST &, 9Ud TS 9T 36 foreiareh bt iR 14 o o & Ush
Herd! 8l 3To8 110 H & fareren ol 9ieT o1 Secid 2

* According to Article 109 of the Constitution of India, a money
bill cannot be introduced in the Rajya Sabha. A Money Bill 1s
introduced 1n the Lok Sabha. And after passing from the Lok
Sabha, 1t goes to the Rajya Sabha, but the Rajya Sabha can
stop this bill only for a maximum of 14 days. Article 110 deals
with the definition of Money Bill.




Q.20 In which of the following state Abor Hills are situated?
/" efafad # & forw e s veifeat ferd 29

e

(a) TTYH ST /West Bengal
(b) 3HAHH /Assam

© m/iérohu/Sikkim
(d) [3TEUT=IT U<\ Arunachal Pradesh

——




Q.21 The religious festival of Ganesh Chaturthi 1s specially related to which state?

TroreT =T T e e foriy w9 ¥ fore U5 | wrafeud 8 2

/(a) ST Y& /Uttar Pradesh

/@5) USITsl/ Punjab
/(,W) AT/ Haryana
ﬂ) HENSZ/ Maharashtra
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Q.22 According to the 2011 Census of India, there are statut towns 1n

the country.

VR 2T a9 201 1 3hT STHUMT o STTER, S H gifaferes e 2|

(a) 10,756
(b) 7,935
(c) 1,362
(d) 4,041




